ECONOMICS HSSC-II
SECTION — A (Marks 20)

Tlme allowed 25 Minutes

Answer Sheet No.

Sig. of Invigilator.

ection—A is compulsory. All parts of this section are to be answered on the question paper itsell.
It should be complated in the first 25 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Circle the correct option i.e. A/ B/ C / D. Each part carries one mark.
Relative importance of various sectors of an economy is reflected by

(i)

A Expenditure method B. Product method

C. Income method D. Personal income
(ii) At equilibrium of national income

A Income = Expenditure B. Aggregate demand = Aggregate supply

C. Saving = Investment D. Both Band C
(i) Which of the following is NOT a function of money?

A Medium of exchange B. Store of value

C. Measure of value D. Stability of value
(iv) According to Fisher's equation, velocity of money equals

A. PT/M B. PM/T C. MT/P D. None of these
(v) For price stability, Central bank uses

A. Administrative policy B. Monetary policy

C. Commercial policy D. Fiscal policy
(vi) Credit creation depends upon

A Amount of cash available B. Reserve ratio

C. Both Aand B D. Number of branches of banks
(i) Who presented the canons of taxation first?

A Adam Smith  B. Fisher C. Keynes D. Ricardo
(vii)  Which year were the banks nationalized in Pakistan?

A. 1974 AD B. 1976 AD C. 1978 AD D. 1980 AD
(ix) What is the number of stock exchanges in Pakistan?

A. 5 B. 4 C. 3 D. 2
(x) Per capita income of Pakistan is higher than

A. China B. Srilanka C. India D. Nepal
(xi) Who has presented a comprehensive definition of econemic development?

A Kindle Berger B. Aurther Lewis C. Williamson D. Meier and Baldwin
(i) The period of Colombo Plan was

A 1951 -57 AD B. 1950 -56 AD C. 1953 -59 AD D. 1952 - 58 AD
(xi)  Means of transport and communication have importance.

A Economic B. Political C. Social D. All of these
(xiv)  Productivity of labour is measured by

A, Marginal output B. Average output

C. Output per worker per unit of time D Total output per unit of time
(xv) Non-monetary control of Inflation is

A. Increase in bank rate B. Reduction in public expenditure

C. Increase in saving D. Price control
(xvi)  National Bank of Pakistan is a/an

A Industrial bank B. Commercial bank

C. Central bank D. Investment bank
(xvii)  Instruments of protection policy are

A Tariffs and quotas B. Subsidies

C. Exchange control D, All of these
(xviii)  Which of the following is a Non-tax revenue of government?

A Fine B. Excise duty C. Export duty D. None of these
(xix)  For the payment of debts, there is budget.

A Surplus B. Deficit C. Balanced D. Unbalanced
(xx) Capitalism's main emphasis is on

A. Equality B: Justice C. Freedom D. None of these
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Time allowed: 2:35 Hours Total Marks Sections B and C:

NOTE:- Answer any fifteen parts from Section ‘B(a)’ one part from Section ‘B(b)’ and any three questions
from Section ‘C’. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers neatly

and legibly.
SECTION — B (Marks 50)
Q.2 a. Attempt any FIFTEEN parts. The answer to each part should not exceed 3 to 5 lines. (15 x 3 = 45)
(i) What is meant by Net National Product?

(ii) Write three basic functions of Money.

(iii) Explain the Quantity Theory of Money in the form of transaction equation.

(iv) Write briefly about the types of deposits in a bank.

(v) What do you know about Islamic banking in Saudi Arabia?

(vi) Differentiate between Proportional and Progressive tax.

(vii) Write down the demerits of Direct tax.

(viii)  Differentiate between Balance of Trade and Balance of Payments.

(ix) What is the significance of agriculture sector in Pakistan?

(x) Write down any three difficulties in the measurement of national income in Pakistan.
(xi) Define Domestic Trade.

(xii) List the factors causing Mobility of Labour.

(xii)  What is the role of State Bank of Pakistan in restoring the banking system?
(xiv)  Define Inflation. Also write its types.

(xv)  What are the sources of non-tax revenue of Federal Government in Pakistan?
(xvi)  Differentiate between Zakat and Tax.

(xvi)  How will WTO affect the economy of Pakistan?

(xviii) Define Capitalism.

(xix)  Explain the meaning of Goodness and Ehsan.

(xx) Name three institutions which provide loans for industrial sector in Pakistan.
(xxi)  Explain circular flow of national income with the help of a diagram.

b. Attempt any ONE part. (1x5=5)
(i) What are the causes of low per capita income in Pakistan?
(ii) What are the functions of Commercial banks?

SECTION — C (Marks 30)
Note:- Attempt any THREE questions. All questions carry equal marks. (3x10=230)

Q.3  Explain the canons of taxation.

Q.4  Elaborate the advantages and disadvantages of multinational companies.
Q.5 Describe the causes of low yield in the agriculture sector of Pakistan.
Q.6 Discuss the importance of communication and transportation.
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